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PHYSICS (PART-11)
SECTION -A

: (Version-1)
Time 3 20 Minute
Marks ' 18
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Q.No.l: You have four choices for each objective type question as @, ®, © and ©. The choice which you think is
correet fill that eircle in front of the question number, Use marker or pen to fill the circles. Cutting or filling two

vi,

vii.

vii,

xi,

Xil,

xiil.

xiv,

XV,

xvi.

wvil,

“13.
iVIHL

or more circles will result in zoro mark in thut question.

il a-tong straight wire carries a cuitent of 1 ampere, then the niagniwde of the magnetic field at a

distonce Ly from it is;

@  210° Tesla M 3~ 107 Tesla © 2107 Tusla

©

Olwm law is npplicable when ____ remwins constant.
@  Volume @»  Current © Temperasmire B Voitoge ’ @ @ ¢
The phase differenve belween the current and valtuge in case of A.C through capacitor is;
@ o @ o0° D et @ 160° ® @ ©
‘The equation of the Irequency of eyeletron is;
@  fqB2mm M F2am/ql © I=qBm/2r O _f-2n/4Bm ® @ ©
A positive charge "Q" is divided into two parts *q" and Q-q™ and sepacated by a distaice R, the force
of repulsion betwaen thein js; :
@ Zem B kquQ-qiK? © Méaginum - @ q(0-q)4 R ® ] ©
What is the co-efficient of inulual inductance when tlie magnetic flux changes by 2x10° Wh and L
chunge in cwrent is 0.001A7 . Lo
® @ 3H & 1121 4 Zeo ® ® o
Choke absorbs or consumes what amount of power. , .
@ Large (&  Small . & Inlinile A dero ()] ® x
Which one material is not britle? . .
& Conercte @ Cerniic @ Highearbon sieel (3 Winnond @ ) ©
in transistor Whe central region base is doped___
@ Lighily 1 lleavily © Moderstely ¥ Very highly ® ® ©
The reversy saturion current in a P-N junction diode is only due to;
@ Majosity carrier (D Minorily catricr € Acueplor ions 1)  boner fons ® ® ©
After emission of f-particles the thoriunt is transforined into;
@ Protactinium 0 Palladium © Plalinum @  Uranium ® ® ) ©
Bracket serics is oblained when all the wansition terminate on; . .
@ 4" orbit @ 37 arbit @ 2™ ol @ 1" arhit o ©
If the ¢nergy of i photon is E, it is equivalent & niags;
@ Eh i ko' © B a e @® ® @
Muaximem power s defivered 1o a load *R* whan intcrnal resistance ™" of the sonree o en.f is;
@ >R a <k © =R @ = & ®m 2
Which one of the i‘u-l_luwiﬁg is true relution for capacitr;
@  €-cnaltw, B &=~cotenm - © E™CaXCuu ) & Cuu- O ® 0 ©
Which oile ol the following has greater range in air? N
@  a-particles @ Gamma panticles © Beta paricles @ Hetium nuclel @& 9 ©
Which one of the following relitions stands for StefTan-Bollzmann lnw?

- @ AT= constunt ® E-.q,.l‘! © E=pm o TH @ E-p¥m ® ® @
The formula A, - R(ﬁ; - ;:-;) for which value uf“P" gives Bracket scrivs?
@ Pl & P-4 © Pp-3 @ p=2 @ ® ©

%107 Tesla ® ® @
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© © 6 © @ ® ©
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Time atlowed: 2:40 Hrs

Note:

Attempt section B & C acc.ordmg,!y

-Bee ™ pxnxvia 0 T N
PHYSICS (PART-“) ) . Marks + 67
{New Course) :
SECTION-B &C

SECTION.-B . Marks: 40

Q.No 2. . Attempt any (TEN) parts of the following, Al parts carry cqual marks, -

i

.

vi.
vil.

viii.

Xl

Xif.

xill

What is the application of elcetrostatic in the function of Inkjet pumur?

Whal-are the ions which constitute brain clectrical curvent for FEG and how the abnormal behawor in brain
is delected? ) )

The 1-V graph of semiconductor and thertnistor is non-lincar. What is the reason?

Haw the direction of the foree F= (I x B) is determined? Describe the rufe.

What is the essential difference butween a generator and electric mnotor? _

Who did-unily the subjects of optics and electromagnatism? Give cxamnples of electromagnetic waves.
Prove that P=V s where “1 is the average power dissipated in R, _
What is the Lechnical importance ol Stress-Strain graph and describe the applicability of Hq?k‘s law in this
graph. |

Describe the differénce helwuén P-type and N-type extrinsic semiconductor,

Discuss the success and failure of Bolir’s atomic modet.

Who solved the problem of distribution0f energy of black body radiation successtully, and what were the
assumptions?

What are the elements calléd, which lave saoio unber of protons and different number of neutrons in the
atoms of one sase element.'Give examples of such’elements.

Describe some characteristics of binding cnergy per nucleon curve.

SECTION -C . Marks: 27

Note: Artemipt any (THREL) of the following. AN questions carry equad marks.
Q.No:3 a).

- Q.No4 a). Styte Gauss’s law und prove that = 0/cy? where E is the clectric fiek! inlensity between two

. . . 4
State Faraday’s law of electromagnetic induction and prove that £ = -N-E"E-.

b).  What is the co-cfficient of mutual inductance when the magnetic flux changes by 2x107 Wb,

and change in current is Q.01 A?

oppnsile.lyl charged parallel plates.

b). A 6uF capacitor is charged to a P.D of 200V and then?conncctcd n parallel with an ﬁncharged

3pF capacitor. Culculate the P.D across the porallel pl.it(I capacitors,

Q.No:5 &), What is black body radiation? Uraw ihe exp-curve, Explpin the Wein displacement law and

]
Plank’s quantum theory.

b). The lemperature of the skin is 35°C. What is the wave leagth at which the pegk ocews-in the

radiation emitted from the skin?

Q.No:6a).  What is a Nucléar Reaction? Describe the difference between Nuclear Fission and Fusion

reactions. =

b). Caleulate the encrgy released Q in the reuction i.e;

u[ll + I;QUM5 —'qumb —iJ‘,Kl'gz + 5(,8&'“'"3(:[]] +Q ’



